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0+749.0000+749.273 0+801.8540+802.5540+805.000 0+910.000 0+982.0310+985.000 1+321.970 1+369.1731+370.000

Querneigung
Maßstab 1:10
Rand links -1
Rand rechts 1

 l = 73.734

R = ∞ l = 15.232

R = -61.751 l = 10.535

R = 62.471 l = 10.536

R = ∞ l = 8.325

R = 71.576 l = 11.529

R = -72.459 l = 11.530

R = ∞ l = 13.699R = 767.634 l = 44.671 R = ∞ l = 50.183
R = 220.898 l = 29.771

R = -86.612 l = 14.726

R = -30 l = 24.815

R = ∞ l = 9.033

R = 80 l = 25.928

R = ∞ l = 28.918

R = 40 l = 7.954

R = ∞ l = 55.042
R = 200 l = 6.305

R = ∞ l = 34.081

R = 40 l = 20.422

R = ∞ l = 90.587

R = -1379.946 l = 23.441
R = ∞ l = 39.534

R = -45 l = 47.208

R = ∞ l = 94.530 R = 429.999 l = 64.237 R = ∞ l = 44.378

0+735.169 0+750.4010+760.9360+771.4710+779.7960+791.3260+802.856 0+816.554 0+861.225 0+911.408 0+941.179 0+955.906 0+980.7200+989.754 1+015.682 1+044.6001+052.554 1+107.5951+113.900 1+147.982 1+168.403 1+258.991 1+282.431 1+321.965 1+369.173 1+463.703 1+527.939
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 Projekt:
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 Ortsdurchfahrt Denklingen
 Höhenplan / Längsschnitt
 Teil 2 (von St. 0+720 bis St. 1+570)

April 2017

Landkreis Landsberg am Lech
von-Kühlmann-Str.
86899 Landsberg am Lech

Aufgestellt:

Landsberg am Lech, den

___________________________________________

(Dipl.-Ing. (FH) Stephan Nitsche)

31.07.2017

Buchloer Str. 8
86899 Landsberg
Tel.:  08191 3209 10 od. 12
Fax.: 08191 3209 35
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